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Part A: Grammar & Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath eaclt sentence you will see four

words or phrases marked (1}, 2), (3). and (4). Choose the one word or phrase that best

completes the senfence. Then mark your auswer sheet.

T6-

77-

78-

79-

84-

86-

Jumping ont from hehind the bushes, Carlos shouted at his ———-——-- and laughced.

1) [rightened sister 23 sister frightened

3) sister 1o be [rightened 4) lrightening sister

He ---——-—--- my favorite actor since 1 saw him in his last film; he is the best, 1 believe.
1) was going to be  2) would be 3) has been 4) was

Nearly 100 ———--——-- of fish are taken from the vcean every year.

1) millions ton 2) million tons 3) millions tons 4y millions of tons

A camera can be used to film directly from the computer’s display screen, but for the
highest quality images possible, ------—--- 5

1) which expensive film recorders are used by

2) thev are used for expensive film recorders

3) are used by expensive film recorders

4) expensive film recorders are used

Were you ---———-- or just joking when you said you were going (o leave your present job?

1) natural 2) amusing 3y excited 4) serious

Author Roberi A, Heinlein once said that love is (hat condition in which the happiness of
another person is --------—-- to your own.

1) hospitable 2) essential 3) attractive 4y creative

Arc you going (0 -—--—-—-- working all night? I think you nced to give yourself a break,

1) give up 2) tall down 3y keep on 4) depend on

Someone once joked that computers will never --—----—-- man entirely until they learn to
laugh at the boss’s jolkes.

1) compare 2) retire 3) respect 4) replace

Pcople are continuously hoying more products and building more houses. Fresh water, oil
and natural gas are just some of the resources which are in ---—-——--

1) demand 2) diversity 3) discount 4) disorder

Food is part of your --—---———-- , 50 what are you saying about vourself when you cat junk
food which is very harmtul to not anly your body but alse your mind?

1) lunclion 2) pringiple 3)identity 43 heritage

If you visit my country, I recommend that you --———-—- to visit the morthern part;
cveryvthing there is wonderful.

1) check in 2) inform 3) dedicate 4) make sure

When the boy stopped breathing in class, an -——-——-—- action was necded by somconce in the
classroom to perform CPR in order to save his life.

1) clementary 2) immediatc 3) available 4) inlermediaic
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which cheice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

88-

9)-
91-
92-

Some people go shopping more regularly than other people 1o look at products in shops
cven when they do not have much money. This is known as window shopping and
(88) —mmmmmmmmm people to plan ahead and save for the things (89) ---=—---—- or wait for the
items to drop in price. Some people spend a lot of time looking for bargains while others
do not (90) -=—---—--- the price and are happy to spend a lot. Some people believe that the
more expensive the item, the better the (91) —----mm--- , but this is not always true. It is
reasonable to buy (92) --—--—--- , but some people use a credit card or borrow mongy
trom the bank so that they can buy the items they really want rather than wait for it.

1y allows 2) improves 3y aucmpls 4) provides

1) 1o buy they want in the future 2y they want in the future buy

3) they want o buy in the Tuture 4y which in the luture want they 1o buy
1) figure out 2} gct along with 3) look alicr 4y think of

1) cconomy 2) quality 3) image 4) origin

1) atfordable items that are 2) items which are aftordable

3) allordable items they are 4) which items are allordable

Part C: Reading Comprehension
Directions: In this part of the test you will read two passages. Eacl passage is followed by four

guestions. Answer the guestions by choosing the best choice (1), (2), (3), vr (4). Then mark your
answer sheet.

94-

PASSAGE I:

[iTorts 1o explain how the pterosaurs became able o 1y have led (e suggestions that they
launched themselves by jumping from cliffs. by dropping from trees, or even by rising
into light winds from the crests of waves. Each explanation has its difficulties.

‘The first wrongly assumes that the pterosaurs’ hind teet were similar to those of a bat
and could serve as hooks by which the animal could hang in preparation for flight.

The second explanation seems unlikely because large pterosaurs could not have
landed in trees without damaging their wings. The third calls tor high waves to make
flving possible. The wind that made such waves, however, might have been too strong
tor the pterosaurs to control their flight once airborne.

What qucestion is the passage mainly concerned with?

1) Whal was the lirst bird?

2) Did the plerosaurs ever exist?

3) What madc the pterosaurs be able 1o My?

4) Why 1s our knowledge ol the past so unclear?

The word “thosc” in the passage refers to -—-—-——,

1) feet 2y dilficultics 3) explanations 4) plerosaurs

msbook.info
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93-

96-

¥7-

98-

101)-

Which of (he [ollowing best describes the aulhor’s altitude (owards the three explanalions
offered in ihe passage?

1) Excited 2) Shocked 3) Confused 4) Uncertain

Which of the following statements, if true, would decrease the force of the reason brought
in against the sccond cxplanation?

1) The pterosaurs always lunded on the ground.

2) The pterosaurs were too big to be able to land at all.

3) The plerosaurs laid cggs in remole arcas lar [rom densc [orests.

4) The plerosaurs’ analomy s not as much investigaied as it has 1o,

PASSAGE 2:

Pcople who speak Swahili who want 10 communicale using a “compyula”, which is the
Swahili word for compuler, are unable (o do so in their own language, 1L makes no
difference that compulers have huge hard drives and sophisticated soltware. They cannot
operate in Swahili or other African languages, of which there are hundreds.

Soon, however, they may be able to. Linguists in Africa are working with information
technologyv specialists to make computers operable to Africans who do not know any of
the languages currently used on the Internet. Economics is bringing about this change.
Microsoft sees a market for its software among Swahili speakers in East Africa. Google
now has a search engine for speakers of Swahili in Kenya. Other software companies will
probably soon develop products for African consumers. In addition to economics, there is
another reason tor making the computer accessible to Africans. Hundreds of African
languages are dying out, and linguists view the computer as a way to save them.
According 1o UNESCO e¢stimates, 90 pereent of the world’s 6,000 Tanguages are nol on
the Internet, and onc language becomes extingt every day somewhere in the world, The
hope 1s thul computers can help save them,

Which of the following is truc about the Swahili people, according to the passage?

1) They lack compuler skills 1o enable them o use computers,

2) They are notl willing to make use of the compuler in their life.

3) They speak a language they cannot communicate with through the computer.

4) They do not have the hard drive and the necessary software to make computer use a
reality.

The passage suggests that the number of languages in which people cannet operate

through the computer is ------—--—-,

1} increasing on a daily basis 2) more than one
3) limited to African countries only 4) yet to be determined
It can be concluded [rom the passage that (here are some Aflricans who -------—--- :

1) speak languages that have no written format

2) are inventing languages that are sure to die out

3) have little trust in foreign companies’ real intentions

4) are not familiar with any language other than their mother tongue
The anthor has mentioned UNESCO mainly in order to -——-——--- 2

1) support an carlicr statement

2) show the number of languages on the [nternet

3) prove that it is the African languages that are most ignored

4) emphasive thal saving languages [rom extinclion is a global duty
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Part A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneaih each sentence you will see

four words or phrases marked (1), (2}, (3), and (4). Choose the one word or phrase that best
compleies the sentence. Then mark your answer sheet,

101- One process by which groups may make bad or irrational degisions ——-—-- as groupthink,
1y known 2y 1s known 3) it is known 4) that i3 known

102- Currently, the buses run from the center of campus past university buildings and through
some of the neighborhoods —=—eee—- 2
1) surrounding the campus 2} that the campus is surrounded
3) are surrcunded by the campus 4) for the campus to surround

103- Limiting the breakfast selection to cold food items will save money and allow us —-—-—- -
1) affordablc to keep our meal plans 2) by keeping affordable our meal plans

3) to keep our meal plans are affordable  4) to keep our meal plans affordable
104- Individuals sometimes experience a difference between what they are doing and ----——-- .

1) what should be doing they believe 2) they believe they should be doing
3) doing what they believe should they 4) what they believe they should be doing
105- It was oncc thought that the best way to sell a product -——————- to as many pcople as
possible.
1) it advertised 2) was for it to advertise
3) was to advertise it 4) has been advertising it
106- Iwould like to propose that history seminars ——--- — shortened to two hours.
1) be 2) are 3 tobe 4) they be
107- We belicved that Marcos, ===—==—=- not stoepped, would hurt himself.
1y if 2) while 3)vetis 4) though

108- Through a friend’s father, Elizabeth found a job at a publishing company, which really
-------- her parents then.

1} had puzzled 2) puzzled
3) would have puzzled 4) has been puzzling
109- Just unplugging your ccll phone charger when vou arc not using =—=e=—- — carbon dioxidc
pollution.
1) reduces 2) it reduces 3) reduces the 4) it to reduce

110- My mother always gave my sister and me the same treats when we were little -————-
ncither of us would be jealous of the other.

1)asil 2y duc o 3} so that 4} as long as

Part B: Vocabulary

Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will see

four words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark the correct choice on your answer sheet.

111- We know how to sacrifice ten yvears for a degree, and we are willing to work very hard to

get a job, a ear, a honse, and so on. But we have difficulty -——--—— that we are alive in the
present moment, the only moment there is for us to be alive.
1) existing 2) donating 3) measuring 4) remembering
112- The essay gives vou an opportunity to show cffcetively yon can develop and —--—— ideas.
1) preler 2) seek 3) express 4) {ranslale
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113- Although the hardy emperor penguin survives in Antarctica in great numbers, the region’s

114-

115-

116-

117-

118-

119-

120-

121-
122-
123-

124-

125-

harsh climate is ---——- — to many species.

1) unlavorable 2) inaccessible 3) indilTerent 4} disloyal

Some brothers and sisters —-—----- well, while others fight like cats and dogs.

1) keep up 2) keep on 3) get away 4) get along

She showed —-—- — no signs of stage fright, handling each of the questions thrown at her
with confidence,

1) uncertainly 2) absolutely 3) seriously 4} invisibly

Left with no other option, the court made the rather unusual decision to disinter the dead
body from its grave and have a DNA test conducted on it to firmly establish its -—--—- A

1) laboratory 2) landfill 3) wonder 4) identity

A unique —---—--- of this cellular phone is that it can be plugged on to a laptop computer,
and used to connect to the Internet even without the use of a modem.

1) skill 2) issue 3) feature 4 likelihood

I'll never —--——- — him for revealing to my boss that I have been playing games on the
office computer, when he has been doing the same.

1) expect 2) suppose 3) forgive 4) appreciate

My heartiest good wishes on the 20th anniversary of your marriage., May the vears to
come bring every -—-—-—-- to you buth.

1) blessing 2) devolion 3) respect 4) relationship

When people do not know how to bring up or what to teach their children, their cultural --
----- — isindeed in danger.

1) heritage 2) provision 3) generosity 4) replacement
May I have your ----—--- , please; I want to make an announcement,

1) protection 2} dedication 3) rceeption 4) attention

All students —-—--—- to the program must have had earned a high school diploma.
1) informed 2y admitted 3 attended 4) encouraged
I felt so ~———-—- that I wanted the ground to open up and swallow me.

1) scared 2) disturbed 3) astonished 4) embarrassed

Massage even works when you do it yourself; 43% of headache sufferers reported getting -
------- after massaging their temples and neck.

1) relict 2) sympathy 3) modgration 4) consciousncss
Colleges try not to have a high rate of attrition. They want students to stay until
graduation rather than --——-- early.

1) fall down 2) turn away 3) drop out 4% hang around

Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following series. Then

mark the correct cholce on your answer sheet.

126-

127-

1) Once indigenous to this area has been hunted the buffalo nearly to extinction.
2) The buffalo has been hunted nearly to extinction, once indigencus to this area.
3) Hunted nearly to extinction, the buffalo, once indigenous to this area, has been.
4) The buffalo, once indigenous to this area, has been hunted nearly to extinction.

1) Most species appear to exhibit a rate of degradation is higher in the stream environment
than m the lake.

2YMost species appear to show a higher rate of degradation in the stream environment than
in the lake.

3)Most species appear to exhibit higher a rate of degradation in the streamm environment than
in the lake.

4) Most specics appear to cxhibit a higher ratc of degradation more in the strcam
¢nvironment than in the lake.
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128-

129-

130-

1) Mr. Thompson was so talented at teaching math which even apathetic students took
interest normally.

2) Mr. Thompson was so talented that even apathetic students normally at teaching math
took inlerest.

3Mr. Thompson was 50 Lalenied at icaching math that even normally apathetic students
took interest.

4) Mr, Thompson was so talented when teaching math to even apathetic students
normally took interest.

1) Dependent upon none of its star players get to injury, the former world champions can
win again this year.

2y Whether the former world champions can win again this year is dependent upon none
of its star players getting injured,

3) Winning again this year of the former world champions can be dependent upon none
of its star players to get injured.

4) That the [ormer world champions whether can win again this year is dependent upon
nonec of ils slar players getting mjurcd.

1) Generational differences are also of interest, especially to people complaining about
what they see as morality declining is.

2)Generational dillerences are also ol inlerest, especially 10 people they complain aboul
what they see declining as morality.

3)Generational differences are also of interest, cspeclally to people who complain about
what they see as declining morality.

4yGenerational differences are also of interest, especially to people that complain about
what thev do see as morality declines.

Part D: Language Functions
Directions: Read the following conversations beftween two people and choose the answer

choice (1), (2), (3), or (4} that best compleies the blank in the conversations. Then mark the
correct choice on your answer sheet.

131-

132-

133-

134-
135-
136-

A: See you later, Mom!

B: Where are you going, Ted?

A: T told Henry I'd drop by.

B: What are vou two going to do?

A: Maybe go to the movies or play tennis. Ouor plans ave still (131) ——————- «

B: Why don’t you invite him over here?

A: T don’t want to hang around here. Dad is really (132) ——-—- in the dumps.

1) a breeze 2) up in the air

3) all or nothing 4y middle-of-the-road

1) off 2) over 3) down 4) through

A: Would you like to join me on the mountain-climbing expedition?

B: (133) ————- ! I like anything but mountain climbing.

1) For ihat matler 2) Fair enough

3) I can’t agree with your more 4y Not on vour lifc

A: Hey, John, I'm bored, Come on, let’s go out and do something,

B: Sorry, ’m right (134) ——-—-- studying for a physics exam. I won't be able to make it
tonight,

A Yul,,lg’vc been studying for a long time. Why don’t yon (135) ——--———- ? Come on! Let’s
go! Forget studying for a while!

B: Look! (136) --———- —! T can’t go anywherc!

A: OK. I’'ll stop bothering you only if you promise to let me know the minute vou’re
finished.

1) halfway 2y all along 3) over my head 4} in the middle of
1) take a break 2) play it by car 3} tic your hands 4} hold your head up
1) Get off my back 2y Worm out of it

3) Stick to your guns 4) Leave me high and dry
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137-

138-

139-
1440-

A:According to the weather forecast, it’s going to be a fine day for our picnic tomorrow.

B:(137) ~—---—-- ! The weather forecasters often get things wrong.

1) On no account 2) Don’t bank on it

3) Don’t beat around the bush 4) There’s really nothing to it

A: 1 feel sorry for Richard. He was feeling quite depressed when I (118) ~==—a--- him.

B: Did he tell you what was bothering him?

A Among other things, he informed me that he got the (139} —---e-—- at work.

B: That’s (140) —--——-- . He's always been a conscientious worker. I wonder why they

dismissed him from his joh?
A: Evidently he had a disagreement on company policies with one of the top executives.

1) ran into 2} lost sight of

3) saw eye to eye with 4) looked askance at

1) ax 2) check 3) ghost 4) buck

1) sure 2) strange 3) possible 4y out of sorts

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer shect.

141-
142-
143-
144-
145-
146-
147-

148-
149-

150-
151-
152-
133-
154-
155-

Many scientists have wondered whether there is some anomaly in the way depression is
inherited; (141) ---------—- a depressed parent or grandparent more likely to (142) -———-- ona
predisposition lor the disorder to [emale (143) ---------- male descendanis? Based on
studics that {144) --—-—--—- tamily historics of depression, (145) ----—---- that question
appears to be no. Women and men with similar heritage scem cqually likely to develop the
(146} ----memem- . Simply tracing family histories, though, without also considering
environmental influences, might not offer a complete picture of (147) ------—---

Indeed, Kenneth S. Kendler and his colleagues found in a study of 2,060 female twins
that genetics might contribute o how women respond (148) -----——-- environmenial
pressures. The rescarchers examined twins with and without a fammly history of depression;
some twins in both groups had rceently undergone a trauma, such as the death of a loved onc

or a divorce. The investigators found that among the women (149) ——-——-— a family history
of depression, stressful events (150) -——-— their risk for depression (151) —-——-——- only 6
percent. But the same risk rose almost 14 percent among the women who did have a family
history of depression. In other words, these woImen had
(152) ---------- inhenited the propensity (153) -—---—-—--- depressed in the wake of crises.

A similar study has not been done in men, (154) ----—--—- open the question of
whether environmental stress and genetic risk for depression (155) -----——--- sithilarly in

both scxes. But rescarch is being done to determine whether men and women gencerally
experience similar amounts and types of stress.

1} is 2y who 3) does 4) whether

1) get 2) take 3) pass 4) impose

1) from 2) more than 3) more of 4) than to

1) transcribe 2) develop 3) range 4y frace

1) answering 2) thal answer 3} the answer Lo 4y whose answer 1o
1) history 2y disorder 3) emotion 4} diffecrence

1) inheriting the depression 2 depression to be inherited

3) the inheriting of depression 4) how depression is inherited

1) of 2y to 3) for 4) with

1) those did not have 2) of those having not

3) who did not have 43 with no having

1) joined 2) raised 3) obeyed 4) consisted of

1) in 2) lor 3yal 4y by

1) rceently 2) necessarily 3) scemingly 4) unsystematically
1) to become 2% becoming 3) had become 4) they became

1) it has left 2) to leave 3) by leaving 4) leaving

1) interact 2) interacts 3) to interact 43 which interacts
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Part F: Reading Comprehension
Directions: In this part of the test you will read three passages. Fach passage is followed by five

questions. Answer the guestions by chonsing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

156~

157-

138-

159-

160-

PASSAGE 1:

For their size, birds are tremendously powerful crcaturcs. We know this thanks to an
ingenious scrics of tests performed by some prominent rescarchers. The rescarchers
placed a specially trained budgerigar in a wind tunnecl and measurcd how much muscle
power it needed to maintain flight at various airspeeds up to 50 kilometers per hour.

The small bird had to be trained, not only because it had to fly in the artificial
environment of the wind tunnel bul also because il had 1o do so while wearing a tiny
oxygen mask.

The mask allowed zoologist Vance Tucker and his colleagues to monitor the
budgerigar’s oxygen demand, and thus the amount of mechanical energy it was
producing. What they discovered was experimental proof of the incredible power-to-
weight ratio of birds. Tucker’s team found that the 35-gram budgerigar’s flight muscles
were delivering a peak power of one to four watts to maintain continuous flight. That
might not sound very much on its own, but it’s pretty impressive when the bird’s size is
taken into account: it works out as 200 watts of continuous mechanical power for every
kilogram of the bird’s muscle mass. And that’s the reason that people have always failed
when they tried to fly by flapping wings attached to their arms: the average human can
only produce around ten watts per kilogram of their muscle mass. It's not that we never
had the time to fly; we have simply never had the energy. To fly, people need machines
and 1o make a ilying machine, we need o undersiand how birds conirol their [lighi.

Which of the following is stated about budgerigars in the passage?

1) They were the first birds used for experiments done on birds.

2) They are the most ingenious among almost all bird species.

3) For their size. they are impressively powerful creatures.

4) For training purposes, they are the most suitable birds.

According to the passage, the bird the researchers used in their tests was -——- -

1) trained

2) known for flying fast

3) raised in artificial environments

4) required an oxvgen mask to survive in adverse conditions

Which of the following best describes the organization of the passage?

1) A problem 1s presented and a solution to get rid of it 15 offered.

2) A suggestion is made and then backed up by means of an example.

3) A mystery is described and the reasons why 1t 1s a mystery are explained.

4) A claim is made and then validated based on the findings of some research.

The word “it” in paragraph 2 refers to --——--- ?

1) maintaining continuous flight

2) peak power ol ane Lo [our walls

3) mass of budgerigar’s flight muscles

4) proof of the power-to-weight ratio of muscles

Which of the following inferences CAN be made from the passage about human beings?

1) They know why birds are actually able to fly by flapping their wings.

2) They have studied birds to be able to learn how to fly since time immemorial.

3)The energy they can produce by flapping wings attached to their arms is anything but
inadequate to cnable them to fly.

4)If they had known about the power-to-weight ratio of birds, they could have invented
gitplancs much carlicr than they actually did.
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PASSAGE 2:

Critics of TV have focused on bad language and mindless violence, and they have made
these scom very significant and threatening to the social fabric, They are right to some
extent only because these people have looked at the content of certain TV programs and
blown it out of all proportion. The truth is that the content is relatively insignificant—
that is not where the real impact of TV lies. Paradoxically, perhaps, it is in the
insignificance of the content of TV programs that the significance of TV lies.

There 1s a relentless Tow of things on TV: there is a story about a drought in Alrica
with 1,000,000 on the verge of starvation, inmediately followed by adverts for Italian
spaghetti and the latest toothpaste, then it is back to the football highlights before your
favorite soap opera starts, and vou are just getting involved in all the intrigues when the
adverts come on again and you decide to change channels to watch the movie, What
remains from all of this as something that could have a lasting impact or that could
prompt some deeper interest? Nothing. Absolutely nothing.

Admittedly there arc times when TV docs manage to gencrate a response. Particularly
disturbing images of emaciated children dying of hunger, flies crawling over their lips,
can prompt people to make a donation, But the channel can’t keep showing the same
pictures for long. Soon there will be another disaster somewhere else and we will forget
the starving children and we won’t stop to think much about the causes of the disaster
and what ocught to be dene in the future. After all, there is another movie later on and we
don’t want to miss it. Without anyone intending this, TV silently conveys the message
that nothing really matters in the world. Channels choose footage, stories and their
variety of shows to increase their ratings. Viewers hop from channel to channel to
maximize their pleasure. A perfect marriage of commerce and hedonism.

TV effectively trains people to leave the world exactly as it is. We have the brute
facts (or some of them at least) about poverty, disasters and disease, but we have so little
analysis, and we are left with the impression that that is just the way things are and that
they couldn’ be otherwise. Belore we have time to think much or tmagine how things
might be different the match has started, it 1s our team and we have found something
much more exciting to fill up our free time.

Which of the following best describes the author’s attitude towards critics of TV?

1) Humiliation 2) Uncertainty

3) Partial approval 4) Complete opposition

What docs the author mean by “nothing” at the end of paragraph 27

1) Shortage of serious content

2) Lack of interesting programs

3) No content able to engender deep and lasting interest

4) Absence of viewers deeply interested in TV programs

The passage suggests that the reason why TV viewers tend to forget the starving children

is that ———————- i

1) such sc¢enes arc horrible 1o think about all the time

2) they know they cannot change anything drastically

3) TV programs follow each other such that TV viewers find it hard to find time to
deeply think about what they are exposed to

4) there are some influential media managers who use TV as a means to make TV
viewcers think TV is only an impartial conveyor of the real world

The word *this” in paragraph 3 refers to --—--- -

1) causes of the disaster

2) not wanting to miss a movie

3) marriage of commerce and hedonism

4) the message that nothing really matters in the world
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165- Which of the following does the writer state is TRUE ahout TV programs?

166-

167-

1) They all fail to leave even any temporary effects on the audience.

2) Some of them could be improved if they arc accompanicd by truc analysis.

3) Most of them tend Lo appeal Lo people’ brute instincts rather than their inclination [or
pleasure.

4) They somehow exaggerate scenes of human suffering to touch people’s feeling
disproportionately.

PASSAGE 3:

A sense of humor has long been considered an important character trait. People regularly
rank humor as one of the most important traits that they look for when choosing a friend,
a rocommate, an cmployec, or a potential spousc. Public spcakers arc told to begin their
specches with a joke, and sales personnel are lold that they will have more success 1l
they can gel their clients laughing belore they begin their sales pitch. There is medical
research to indicate that laughter can reduce stress and even extend life, Clearly, humor
18 important, but few people spend much time thinking about the topic of humor. There
arc, howcever, a couple of important facts that cveryvone should know about humor.

One is that humor is learned, not inherited. Tnfants have no sense of humor, but
quickly learn what is funny from their parents and later from friends and from books,
television, magazines, and movies. It is, therefore, possible te sharpen your sense of
humor, no matter what yvour age. Another important fact to remember is that humor is
highly subjective. What is funny changes from era to era, from country to country, and
from group to group. A joke book from the ninctcenth century may contain a few funny
jokes, bul it also contains jokes that leave us scralching our heads and wondering “Why
was that funny?” Similarly, it you go to a comedy act when you visit another country,
vou probably won’t laugh as hard or as often as the other people in the audience, even if
you understand the language perfectly. This may be in part because you don’t understand
the cultural references—a joke about a politician that you have never heard of will
probkably not be very funny—but it is also because there are some basic differences in
what people in various countries think is humerous,

Studics have also shown that men and women find different things funny, and so do
people ol dillerent age groups. All of this indicates that you have Lo pay allention 1o your
audience when vou employ humor. What you find hilarious, someone else may find
baffling or even offensive.

The passage menlions medical research in paragraph 1 in erder (0 ---——--——- :

1) further support the importance of humor

2) modcrate the main point alrcady made in the same paragraph

3) express surprise al some people’s [ailure lo appreciale humor

4) name a benefit of humor with which people are expected to be more familiar
The passage states that people’s sense of humor -—————- "

1) 15 innate 2) is acquire

3) is hard to tcach to thosc who lack it 4y deelines with age

168- Which of the following is part of the argument in the passage to prove that humor is highly

169-

170-

snbjective?

1) It depends on the topic of conversation, 2) It varies from era to era,

3) It is age-independenl. 4y It 18 hard (o define.

The passage refers to ““a politician™ in paragraph 2 primarily in order to -————- .

1) illustrate the impact of politics on the meaning of humor

2) claim that political issues are not funny in some countries

3) give an example of the effect of cultural differences on people’s reaction to humor

4y provide support for the general rule that humor is affected by people’s political stance

There is sufficicnt information in the passage to answer which of the following gquestions?

1) Why is humor generally regarded as the most important trait to posscss?

2) Why are you advised to consider your audience to be able to make more effective use
of humor?

3 What prompted medical rescarchers to conduet studics to probe the cffects of laughter
on human health?

4) What makes business people who begin their sales pitch with humor more success(ul
than those who do not?
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101-

102-

103-

104-

105-

Teil A: Grammatik

Meine Enkelin Sara wird heute in einer Woche Monat alt.
1) eine 2) einer 3) einen 4) einem

nene Firmen zu bauen, ist es besser, alie zu modernisieren. So fallen weniger
Kosten an.
1) Um 2) Ohne 3) Damit 4) Statt
Fiir Informationen stehe ich Ihnen gerne zur Verfiipung,
1) weitere 2) weiteren 3) weiteres 4) weiterem
Der Vater hat sich schr gefirgert, dass der Schaffner unhiiflich zn uns war.
1) dazu 2) davon 3) darauf 4) dariiber
In welchem Tempuos steht der Satz ,Die Begegnung mit der orientalischen Kultur

veriinderte thn <?
1) Futur I 2) Perfekt 3) Priisens 4) Priiteritum

106- Kinder, Eltern ans asiatischen Liindern kommen, sind In unserer Schule
Klassenbeste,
1) deren 2) dessen 3) denen 4) der
107- (Plural von ,,Ansflug“) nach Dinemark sind bis znm 10. Mai nicht miglich.
1) Ausfluge 2) Ausfliige 3) Ausflugen 4) Ausfliigen
108- Er trat ins Biiro des Rektors ein, ——— anzklopfen. Das hat dem Rektor nicht
1) um 2) statt 3) ohne 4) damit
109- In welchem Kasus steht die Priaposition im Satz ,,Der Wunsch aller Menschen nach
Frieden ist verstindlich“?
1) Dativ 2) Genitiv 3) Akkusativ 4) Nominativ
110~ Er steckte das Geld, das ich ihm gegeben hatte, in Tasche.
1) der 2) den 3) die 4) das
111- Welche Bedeutung hat das Modalverb im Satz ,Auf diesem Platz diirfen nur Kinder
gpielen“?
1) Absicht 2) Fahigkeit 3) Erlaubnis 4) Moglichkeit
112- Bei welchem handelt es sich um den Komparativ des Adjektive ,,dumm®“?
1) dummer 2) diimmer 3) diimmest 4) dummerer
113~ Er musste den Artikel zu Ende schreiben, er dazu keine Lust hatte.
1) ob 2) als ob 3) damit 4) obwohl
114- Ich — ihm fiir seine Hilfe bei den technischen Fragen herzlich

115- 100 Meter entfernt beginnt eine Sicherheitszone. Du

1) bin / gedankt 2) habe / gedanlt 3) habe / gedanken 4) bin / gedanken
hier keine Fotos machen!
1) darfst 2) willst 3) kannst 4) mmsst
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Teil B: Vokabeln

116- Immer wenn er eine Wohnung suchen muss, schaut er die in der Zeitung am,
1) Artikel 2) Anzeigen 3) Nachrichten 4) Gespriiche
117- Er musste sich fiir Verhalten seines Sohnes beim Nachbarn entschuldigen.
1) respektvolles 2) groBes 3) schlechtes 4) nettes
118- Es macht dir wohl Spafl, die anderen auf den zu nehmen!
1) Arm 2) FuB 3) Finger 4) Kopf
119- Die Biirger, die viel Stenern bezahlen missen, knnen sich beim beschweren.
1) Postamt 2) Jugendamt 3) Standesamt 4) Finanzamt
120- Warum sind Sie geworden? — Weil ich die Landwirtschaft Hebe,
1) Bauer 2) Pfarrer 3) Schuster 4) Schneider
121- Ein cleverer Reniner aus Hamburg hat Trickdiebe aufs Kreuz =
1) gelegt 2) gesetzt 3) gestellt 4) genommen
122~ Siec miissen einen ncuen Pass beantragen, Ihr Pass ist nur zwel Wochen ——,
1) alt 2) lang 3) giiltig 4) haltbar
123~ Nachdem er im ,,Wer wird Millionir?* gewonnen hatte, konnte er einige Zeit auf groflem
FuB :
1) laufen 2) spielen 3) stehen 4) leben
124- Dein Freund mag es nicht, wenn du sein Handy benutzt. Warnum willst ihn schon wieder
darum —_
1) bewundern 2) beneiden 3) bitten 4) bringen
125- Er hat sich damit abgefunden, dass er nicht mehr mit den jiingeren Sportlern ———
halten kann.
1) Marsch 2) Schritt 3) Bein 4) Lauf
126- Die Verkiluferin beobachtete, wie der Junge eine Uhr . Er wollte aber den
Diebstahl nicht zugeben.
1) kaufte 2) reparierte 3) verwendete 4) entwendete
127- Du sollst einen mitnehmen. Ich glauhe, es liegt ein Gewltter in der Luft.
1) Wecker 2) Schirm 3) Beutel 4) Koffer
128- Wie lange willst du noch den Kopf in den stecken? Was du tust, ist definitiv
Megal!
1) Grab 2) Stein 3) Sand 4) Wind
129- Als die Familie thr Haus gebaut hatte, hatten alle wie gearbeltet.
1) Fuchse 2) Hunde 3) Ziegen 4) Pferde
130- Ich muss thm die Offnen. Er weill nicht, dass sein Geschiftxpariner ihn hintergeht.
1) Augen 2) Hiinde 3) Ohren 4) Arme
Teil C: Satzbildung
Welcher Satz ist korrekt?

131- er/das ganze Zimmer / durchsuchen / nach dem Schliissel
1) Dag ganze Zimmer er hat nach dem Schliissel durchsucht.
2) Er hat das ganze Zimmer nach dem Schliisse]l durchsucht.
3) Er das ganze Zimmer hat nach dem Schliissel durchgesucht.
4) Nach dem Schliissel er hat das ganze Zimmer durchgesucht.
132- nach se vielen Jahren / sich erinnern konnen / kaum mehr / ich/ an seinen Namen
1) Nach so vielen Jahren ich kann mir kaumn mehr an seinen Namen erinnern,
2) An seinen Namen kann erinnern ich mir nach so vielen Jahren kaum mehr.
3) Ich kann mich nach so vielen Jahren kaum mehr an seinen Namen erinnem.
4) Nach so vielen Jahren kann ich mich kaum mehr an seinen Namen zu erinnern.
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133-

134-

135-

136-
137-
138-
139-
140-
141-
142-
143
144-
145-
146-
147-
148~
149-
150-

genug Geld haben / eine schone Reise machen kinnen / die Familie / um

1) Genug Geld hat die Familie, um eine schine Reise machen kénnen.

2) Die Familie hat um eine schone Reise machen kinnen, genug Geld.

3) Die Familie genug Geld hat, um eine schine Reise machen zu konnen.
4) Die Familie hat genug Geld, um eine schine Reise machen zu konnen.
zuriickgehen / der Umsatz des Unternchmens / stark / im letzten Jahr

1) Im letzten Jahr ist der Umsatz des Unternehmens zuriickgegangen stark.
2) Der Umsatz des Untemehmens ist im letzten Jahr stark zurickgegangen.
3) Im letzten Jahr stark ist der Umsatz des Unternehmens zuriickgegangen.
4) Der Umsatz des Unternehmens stark ist im letzten Jahr zuriickgegangen.
fiberlassen / ihrem Mann / Brigitte / die Betreuung des Unternchmens

1) Brigitte hat die Betreuung des Unternehmens ihrem Mann iiberlassen.

2) Brigitte hat liberlassen die Betreumung des Unternehmens ithrem Mann.
3) Brigitte hat ihrem Mann die Betreuung des Unternehmens iibergelassen.
4) Die Betrenung des Unternehmens hat Brigitte ihrem Mann iibergelassen.

Teil D: Liickentext
Ergiinzen Sie den Text mit den richtigen Answahimdbglichkeiten!

Es war im Winter. Der Wolf hatte schon lange nichts mehr gegessen und lief

(136) -—--—--- durch den Wald. Da sah er den Fuchs vor seinem Haus sitzen, der
(137) --—--- Fisch aB. Als der Fuchs den Welf kommen sah, zog er sich in seinen
(138) -—————- zuriick. Der Wolf, der gesehen hatte, wie (139) ———-- der Fuchs seine
Mahlzeit genoss, konnte den Hunger nicht mehr (140) --—-- —: ,,Lieber Fuchs, zeige mir
bitte, wie man Fische fingt“. Der Wolf musste (141} -—--—- , dass er alles machen wird,
was der Fuchs verlangt. Nun kam der Fuchs aus seinem (142) -——--—-- heraus, und sie
gingen gemeinsam (143) --—-- — einem See, der eine dicke Eisdecke trug. In der Mitte
hatten die Fischer ein Loch (144) ——--- . Der Fuchs sagte dem Wolf: ,,Hiinge (145) -—-
----- Schwanz hier in das Loch. Dann werden sich viele Fische daran fangen. Aber du
musst still (146) ---------- , bis viele daran sind“. Der Wolf tat so, wie (147) ---—----- der
Fuchs lehrte. Es war aber eine kalte Mondnacht. Das Loch im (148) -—---—-- fror bald
zu. Nach einiger Zeit fragte der Fuchs: ,Nun, hast du schon einige?* Der Wolf zog den
Schwanz ¢in wenig an, ,Ja, ich (149) --—-- — schon etwas®, ,,Sei nur still, mein Lieber,
(150) ———-- sie nicht fortschwimmen®, sprach der Fuchs.

1) satt 2) stolz 3) heiter 4) hungrig

1) ein groBes 2) eine grofe 3) ein groBer 4) einen groflen

1) Bau 2) Kiifig 3) Teich 4) Wagen

1) fern 2) gcben 3) schr 4) groB

1) stillen 2) ertragen 3) erfinden 4) verlieren

1) aufhdren 2) schweigen 3) versprechen 4) herausfinden

1) Loch 2) Beit 3) Sack 4) Zelt

1) an 2) zn 3) bei 4) mit

1) gemalt 2) gehalten 3) geschlagen 4) geschlossen

1) dein 2) deine 3) deines 4) deinen

1) halten 2) lernen 3) fahren 4) npehmen

1) sie 2) ihn 3) ihr 4) ihm

1) Eis 2) Zaun 3) Dach 4) Fass

1) lese 2) koche 3) fiihle 4) suche

Dob 2) wie 3) wenn 4) dass
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Teil E: Leseverstehen

Text 1:
Albert Schweitzer war ¢in deutsch-franzdsischer Arzt, der heute als ,Urwald-Arzt’
bekannt ist, Er wurde im Jahr 1875 im Elsass im heutigen Frankreich geboren, Sein Vater
war evangelischer Pfarrer, Er starh im Jahr 1965 im afrikanischen Staat Gabun. Albert
Schweitzer setzte sich in seinem Leben fiir verfolgte und bedrohte Menschen ein.
AuBerdem kampfte er dafiir, dass es auf der Welt weniger Waffen gibt, fiir Frieden und
fiir Freiheit. Fiir seine Arbeit erhielt er im Jahr 1954 den Friedensnobelpreis. Schweitzer
studierte Theologie und Philosophie in Straburg. Er wurde Pfarrer, spater Professor fiir
Theologie. Nebenbei beschiftigte er sich mit Orgelmusik und dem Orgelbau. Er gab viele
Konzerte und schrieb Biicher iiber die Musik von Johann Sebastian Bach. Sein grofler
Traum war es jedoch Medizin zu studieren. Er wollte als Missionsarzt in Afrika titig
werden. So gab er iiberraschend seine Arbeit an der Universitat auf und studierte Medizin.
Zusammen mit seiner Frau baute er in dem kleinen Dorf in Gabun ein Urwald-
Krankenhaus auf. Ab und zu reiste er nach Furopa, um mit Konzert- und Vortragsreisen
Geld und Medikamente fiir sein Krankenhaus zu sammeln.

Welche der folgenden Auszeichnungen hat Schweitzer laut Text gewonnen?

1) Beethoven-Preis 2) Robert-Koch-Preis

3) Nobelpreis fir Frieden 4) Deutscher Kritikerpreis

Welche Aunssage iiber die Tiitigkeit von Schweftzer an der Universitit trifft zu? Schweitzer
1) wurde aus der Uni entlassen 2) arbeitete bis zur Rente an der Uni

3) horte auf, an der Uni zu arbeiten 4) war niemals an einer Universitit titig
Aus dem Text geht hervor,

1) Politik 2) Musik 3) Sprachen 4) Archiiologie

In welchem afrikanischen Land war Schweltzer ansiissig?

1) Mali 2) Guinea 3) Kongo 4) Gabun
Schweitzer finanzierte laut Text sein Krankenhaus u. a. durch

1) die Spenden der Regierung 2) den Verkauf von Gmndstucken

3) die Vortriige, die er in Europa hielt 4) Gelder, die er von der Kirche bekam
‘Was war der Vater von Albert Schweitzer von Beruf?

1) Geistlicher 2) Landwirt 3) Bibliothekar 4) Musiklehrer
Welches Fach w. a. studierte Schweitzer in StraBburg?

1) Jura 2) Theologie 3) Geschichte 4) Soziologie
Text 2:

Portugiesisch ist eine romanische Sprache. Damit ist sie verwandt mit Sprachen wie Latein
oder Spanisch. Uber 215 Millionen Menschen auf der Welt sprechen Portugiesisch. Nur vier
andere Sprachen werden von mehr Menschen als Muttersprache gesprochen. Die meisten
Menschen, die Poriugiesisch sprechen, leben in Brasilien. Dieses riesige Land in
Siidamerika war einmal eine Kolonie von Portugal.

Wihrend in Brasilien fast 200 Millionen Menschen leben, sind es in Portugal nur etwa
10 Millionen. AuBlerdem ist Portugiesisch Amitssprache oder eine weitere wichtige
Sprache in einigen Landern Afrikas. Auch dort haben friher Portugiesen geherrscht. Das
Portugiesische in Afrika ist dem in Portugal recht #hnlich. Das brasilianische
Portugiesisch ist oft anders. Das liegt daran, dass Brasilien ziemlich friih unabhfngig
wurde und zeigen wollte, dass es ein cigenes Land mit eigener Sprache ist.

Es wird anders ausgesprochen und hat cinige andere Worter als Portugiesisch in
Europa. Im 18. Jahrhundert veriinderte sich das Portugiesisch in Europa stark, withrend
das brasilianische Portugicsisch ziemlich gleich blicb. Trotzdem schreibt man
Portugiesisch in der ganzen Welt auf dieselbe Weise,
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In welchem Land wird mehr portugiesisch gesprochen als in anderen Teilen der Welt?
1) Mosambik 2) Brasilien 3) Portugal 4) Spanien

Wie kam die portngiesische Sprache nach Brasilien? Durch die

1) brasilianischen Seeleute

2) politischen Vereinbarungen

3) wirtschaftlichen Beziehungen

4) Besetzung des Landes durch Portugiesen

‘Worin u. a, onterscheidet sich laut Text das brasilianische Portugiesisch vom europiischen?
In dey ———.

1) Schreibung 2) Grammatik 3) Aussprache 4) Schriftsprache
Dvie portugiesische Sprache ist laut Text die Muttersprache der Welt.

1) finft grobte 2) meist gesprochene

3) am wenigsten gesprochene 4) am einfachsten zu lernende

Mit welcher der folgenden Sprachen ist das Portugiesische verwandt?

1) Schwedisch 2) Russisch 3) Spanisch 4) Deutsch

Zu welcher Zeit gab ¢s eine starke Umwandlung der portugiesischen Sprache in Europa?
1) Im Mittelalter 2) In der Antike

3) Nach dem Zweiten Weltkrieg 4) Im achtzebhnten Jahrhundert

Anus dem Text geht hervor, dass die Schreibung des Portugiesischen

1) teilweise recht schwierig ist 2) iiberall auf der Welt gleich i 1st

3) keinen einheitlichen Regeln folgt 4) sich mit der Zeit nicht geéindert hat
Text 3:

Auf der skandinavischen Halbinsel liegen vor allem Norwegen und Schweden. Das
skandinavische Gebirge bildet die Grenze zwischen beiden Liéndern. Die ndrdliche
Spitze von Norwegen, ist auch der nérdlichste Punkt des europdischen Festlandes.

Mgistens denkt man bei Skandinavien aber noch an weitere Linder, vor allem
Dénemark und Island. In all diesen Landern werden dhnliche Sprachen gesprochen, die
skandinavischen Sprachen. Man nennt sie auch die nordgermanischen Sprachen, die mit
dem Deutschen verwandt sind. In diesen Lindern waren vor mehr als 1000 Jahren die
Wikinger zu Hause. Viele zihlen zu Skandinavien aber auch Finnland. Es liegt teilweise
sogar auf der skandinavischen Halbinsel. Allerdings sprechen die meisten Einwohner
Finnigch, eine ganz andere Sprache. Die Skandinavier selbst nennen ihre ,nordischen
Linder” gemeinsam geme ,den Norden“. Trotzdem gibt es wichtige Unterschiede
zwischen den Lindern. Zum Beispiel sind von ihnen nur Dinemark, Schweden und
Finnland Mitglieder der Européischen Union. Mit dem Euro zahlen nur die Finnen, die
iibrigen Linder nennen ihre Wihrung Krone. Didnemark, Schweden und Norwegen
haben Kdnige, dic anderen Lander sind Republiken,

Welche Staatsform hat das Land Norwegen?

1) Republik 2) Fiirstentum 3) Kdnigreich 4) Volksrepublik
D¥ie Lander Norwegen und Schweden sind durch voneinander getrennt.

1) Gebirge 2) Wiilder 3) Mauermn 4) Fliisse

‘Wie nennt man die Vorfahren der heutigen Skandinavier?

1) Wikinger 2) Nomaden 3) Indianer 4) Azteken
Welche Sprache gehort nicht zu der Gruppe der skandinavischen Sprachen?

1) Diéinisch 2) Finnisch 3) Isléindisch 4) Norwegisch

welches Thema findet sich im Text kein Hinweis? Uber die .
1) Landeswahrungen in Skandinavien 2) EU-Mitgliedschaft der Skandinavier
3) Handelsbeziehungen der Dinen 4) Landessprache in Finnland

170- Welches der folgenden Liinder ist nicht ein Mitglied der Europifiischen Union?

1) Diénemark 2) Schweden 3) Finnland 4) Norwegen
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Partie A: Structure
Complétez les phrases suivantes en cochant la réponse correcte:

101- Ny ales clés voiture sur la table.
1)l]a 2) de 3) une 4)dela
102- A Paris, les immeubles traditionnels sont tous rénovés.
1) parisien 2) parisiens 3) parisienne 4) parigsiennes
103- Sur - note d'hitel,le prix est 100 enros.
1) ce 2) cet 3) cette 4) ces
104- Son jardin est fleuri; ne I'est pas encore.
1) le mien 2) 1a mienne 3) les miens 4) les miennes
105- Hier, le garagiste la pression de mes pneuns.
1) vérifie 2) vérifiera 3) a vérifié 4) vérifiait
106- Le monument ——— vous parlez n'est pas classé par le ministére,
1) ot 2) que 3) qui 4) dont
107- 1l eat préférable que ta soenr ce qu'elle veut comme cadean.
1) dit 2) dise 3) adit 4) disait
108- Quand Marc son diplime de médecine, il devra prendre son service en province,
1) obtenait 2) obtiendra 3) obtiendrait 4) aura obtenu
109- Le printemps est saison de I'année.
1) la meilleure 2) le meilleur 3) meilleure 4) meilleur
110~ Les allocations - par le gouvernement.
1) attribuent 2) ont attribué
3) sont attribués 4) ont &t attribuées
111- Nous avons iravaillé dur tout 1'été,
1) pendant 2) depuis J)ilya 4) en
112- Situ me donnais de meilleurs consells an lien de critiquer, ¢a m' besucoup.
1) aidait 2) a aidé 3) aiderait 4) aidera
113- Maxime est condamné 4 10 ans de prison avoir tiré sur son beaun-pére.
nd 2)3 3) par 4) pour
114- Plerre a demandé 2 Marie elle reviendrait de son voyage le lendemain.
1) si 2) que 3) qui 4) quand
115 Le Renault 5 consomme le Peugeot 206.
1) aussi 2) aytant que 3) autant de 4) moins de
116- Elle n'a pas rencontré un Espagnol? ———, et elle a émigré 4 Madrid par Ia suite.
1) 8i 2) Oui 3) Mais oui 4) Bign siir que oui
117- 1 a trouvé un Lt & 1'hépital public son ami médecin.
1) car 2) malgré 3) grice 4) parce que
118- Dis, tu me feras essayer ta nouvelle voiture? D'accord, je ferai essayer.
tele 2)tela 3) lalui 4) le lui
119- Regardez ces journaux: préférez-vous?
1) quels 2) lesquelles 3) lequel 4) laquelle
120~ Je ne voyagerai jamais avec lui.
1) ni 2) pas 3) plus 4) personne
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Partie B: Vocabulaire
Complétez les phrases suivantes en cochant la réponse correcte:

121- Larésidence d'un chef d'état, d'un roi est
1) une villa 2) un chalet 3) un palais 4) un pavillon
122- est gratuite pour que tous les bébés regoivent une protection contre les maladies.
1) Le soin 2) La guérison 3) Le traitement 4) La vaccination
123- Les yeux des Chinois seraient une adaptation du corps humain au climat.
1) bridés 2) gonflés 3) pochés 4) exorbités
124- C'est un adolescent qui range toujours ses affaires, il est ce qui est étonnant pour
son fge.
1) distrait 2) agressif 3) modeste 4) ordonné
125- Lorsque je prends la route pour un long trajet, je dois vérifier la pression des
1) roues 2) penus 3) freins 4) batteries
126- Le travail domestique est aujourd'hui facilité par les appareils
1) ménageres 2) électriques
3) domestiques 4) électro- ménagers
127- Le pain blane a été longtemps considéré comme le meilleur, 4 présent on revient au pain
qui est naturel.
1) rassis 2) de seigle 3) complet 4) au chocolat
128- Pour monter sol- méme un meunble Ikea, il faut salvre —.
1) la notice de montage 2) la recommandation
3) l'ordonnance 4) le conseil
129- Un est un employé présent dans un htel de jour comme de nuit.
1) gérant 2) hételier 3) restaurateur 4) réceptionniste
130- En raison de la pandémie de Covid-19, les jenx olympiques sont d'un an,
1) laissés 2) annulés 3) reportés 4) abandonnés
131- Ona le député au premier tour, cela a surpris tont le monde.
1) élu 2) surprig 3) soutenu 4) abouti
132- Cet outil est trés ——— cela me permet de travailler facilement.
2) complexe 2) maniable 3) compligqué 4) embarrassant
133~ Sil' on ne prépare pas bien I'enfant aux premiéres séparations, il deviendra par la
suite.
1) avare 2) brave 3) peureux 4) insomniague
134- 11 n'y avait plus de place dans I'avion, un couple avait cédé avec leurs places 4 Ia
mére et son enfant.
1) respect 2) politesse 3) cordialité 4) gentillesse
135- Le magasin ot se fait la vente des médicaments est une .
1) pharmacie 2) pétisserie 3) mercerie 4) épicerie
136- Vous avez éé de ne pas vous aventurer dans ce pays.
1) sage 2) irraisonnable 3) irresponsable 4) imprudent
137- Pour pouvoir faire les commandes, il a pris des employés afin d'aider son
personnel.
1) temporels 2) temporaires 3) éphémeres 4) intemporels
138- Pendant le confinement de nombreux €léves n'ayant pas A la maison ont du mal A
suivre les devoirs donnés par leurs professeurs.
1) de portable 2) d'ordinateur
3) de dictionnaire 4) de livres scolaires
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Sil'on dégire louer om acheter une maison on s’adressera i une agence ———,

1) professionnelle  2) de construction  3) immobiliére 4) publicitaire
Ma tante Suzanne, la sceur de ma grand- mére est notre .

2) belle- sccur 2) tante 3) belle- fille 4) grand- tante

Partle C: mise en ordre des mats
Placez les éléments suivants dans on ordre correct:

patiente~ le- I'avion- dans- de- parachutiste- avant- sauter
1) Dans I'avion le parachutiste patiente avant de sauter.
2) Le parachutiste patiente avant de sauter dans I'avion.
3) Avant de sauter, le parachutiste patiente dans I'avion.
4) Avant de sauter dans I'avion le parachutiste patiente.
barbecue- été- en- facilement- faire- un- peunt- on

1) En été on peut faire facilement un barbecue.

2) On peut faire facilement en été un barbecue.

3) On peut en été faire facilement un barbecue.

4) Un barbecue on peut faire facilement en &té.
cuisiniére- prépare- la- repas- cantine- les- - 1a

1) A la cantine la cuisinic¢re prépare les repas.

2) La cuiginidre prépare les repas 4 la cantine,

3) La cuisinidre prépare 4 la canting les repas,

4) Les repas la cuisiniére prépare 4 la cantine,

utilise- télécommande- 1a- Pierre- changer- chaine- de- pour
1) Pierre pour changer de chaine utilise la tElécommande,
2) Pierre utilise pour changer de chaine la télécommande.
3) Pour changer de chaine Pierre utilise la télécommande.
4) Pierre utilise la télécommande pour changer de chaine.
une- féte - prande- tous- les- de- 1'école- enfants- réunit

1) Une grande féte tous les enfants réunit de I'école.

2) Tous les enfants de 1'école réunit une grande féte.

3) Une grande f8te réunit tous les enfants de I'école.

4) Les enfants de 'école tous réunit une grande féte.

Partie D: Conversations
Lisez les conversations et répondez aux questions:

Marie & I'employé:

Marie: Ot est- ce qu'on peut prendre une douche?

L'emplaoyé: Les douches sont 13- bas madame!

Marie: Vous plaisantez! La moitié des douches sont fermées. Je vais faire ln queune
pendant une demi- heure en plein soleil!

Marie contre les conditions de camping.

1) proteste 2) critique 3) se plaint 4) ¢st enthousiaste
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La secrétaire: Entrez...Bonjour Madame.

Suzanne: Bonjour madame, je voudrais prendre un rendez-vous avec le docteur.

La secrétaire: Oui pour quand?

Suzanne: Hen demain si possible 2 17 h.

La secrétaire: Demain le docteur ne peut prendre de consultation. Mais mardi 17 h c'est

possible.

Suzanne: Oui trés bien.

Suzanne le rendez-vous de mardi.

1) refuse 2) accepte 3) décline 4) rejette
A la piscine:

Le moniteur: Les enfants, arrétez de courir. Vous savez trés bien qu'il est dangereux de
courir au bord de la piscine. Alors ne courez pas?

Le moniteur ———- aux enfants de courir A la piscine.

1) exclue 2) empéche 3) interdit 4) censure

Plerre & son professeur:

Pierre: je ne fais rien de bon en ce moment. Je m'ennuie trop pendant les cours. Je vais
quitter le lycée.

Le professeur: Avant de prendre ta décision, réfléchis bien et parle avec tes parents.
Le professenr i Pierre de réfléchir et de parler avec ses parents.

1) permet 2) suggere 3) propose 4) recommande

Les étudiants au doyen de I'université:

Les plats servis i la facuolté sont immangeables, la salle & manger est trop petite, le personnel
est sans respect envers les étudiants. Noos vouloms que vous changiez cette sitnation.

Les étudiants un changement des conditions du restaurant universitaire.
1) ordonnent 2) réclament 3) demandent 4) commandent
Partie E: texte & compléter

Complétez le texte suivant i 1'aide des réponses proposées:

Les jumeaux attendent leur mére devant le collége.Colombe s'étonne souvent qu’ils (151) -
------ — partagé son venire pendant sept mois, car ces deux 13 n'ont {152) —---- de deux
fréres, encore moins d'une paire de jumeaux,

Pierre est longiligne et pale comme Colombe. Oscar, court et mat de peau, est le

(153) ---———- craché de son pére. Pierre parle pen mais Oscar trop. Ils (154) ---———-
souvent,

Parfois Colombe perd patience. Mais (155) ----- —— A son mari, elle parvient a
(156) --—--—--——-- , et les (157) —————--- , les console, les cdline. Colombe (158) ----- ses
fils et leur fait un petit signe. Pierre dépasse son frére d'une téte. C'est toujours lui qui
(159) ------mmm- voit en premier. F'ai trouvé un appartement leur {(160) -----——— - t- elle.
1) ont 2) aient 3) auront 4) avaient
1) rien 2) plus 3) jamais 4) personne
1) portrait 2) visage 3) physionomie 4) silhouette
1) se bataillent 2) se défendent 3) s'attaquent 4) se disputent
1) contre 2) inversement 3) au contraire 4) contrairement
1) réprimer 2) surmonter 3) se maitriser 4) se dompter
1) divorce 2) sépare 3) regarde 4) comprend
1) voit 2) regarde 3) apergoit 4) distingue
Dla 2) Tai I en 4)y
1) déclare 2) affirme 3) annonce 4) recommande
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Partie F: Compréhension de texte
Lisez les textes suivants et répondez aux questions:

Texte 1:

Je m’appelle John, je suis américain. Avec mon amie Jenny, nous passons une semaine
de vacances 4 Paris, Comme je suis architecte, je¢ veux profiter de notre séjour pour
visiter le chiiteau de Versailles.

Quand nous arrivons au chiteau, il y a beaucoup de touristes et nous devons prendre
un billet pour entrer. Je suis impressionné, le chiteau est trés grand, il y a plus de 2300
piéces ! Il a été construit au XVIle siécle par le roi de France Louis XIV.

Nous passons dans la galerie des glaces, un couloir trés long et entiérement rempli
de miroirs. Jenny veut voir la chambre de la reine et la salle 4 manger. Il v a beaucoup de
tableaux des personnes qui vivaient dans le chiteau a 1’époque de la monarchie.

Ensuite, nous sortons du chéteau pour visiter les jardins. Nous nous reposons prés
d’une grande fontaine. Jenny prend des photos des statues.

Le soleil va se coucher, nous devons quitter le chéiteau. J’ai beaucoup aimé cette
vigite, j’espére que nous reviendrons,

Avec qui John vigite-t-il le chiteau de Versailles?

1) sa seeur 2) ses parents

3) sons amie 4) personne, il est seul

Comment est le chitean?

1) petit 2) récent 3) bean 4) grand
Quand le chiiteau a-t-il &€ construit?

1) an XVIIe siécle 2) an XXIe siecle

3) on ne sait pas 4) au Xe siécle

Jenny prend des photos.

1) du chiteau 2) des statues 3) de ses amis 4) des fleurs

Est-ce que John a almé la visite de Versailles?
1) Non, mais Jenny a beaucoup aimé la visite
2) Oui beaucoup, il veut revenir

3) Non pas du tout

4) Oui un peu
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Texte 2:
Avec les prévisions météo, on peut savoir quel temps il fera le soir, le lendemain ou dans
la semaine. Quand il y a un grand soleil sur la carte, il fera chaud sur la région.

Quand la météo indique un soleil avec des nuages, il y aura peu de soleil et il y aura
souvent du vent. Le temps sera gris. 8’il y a des nuages avec de la pluie sur la carte, c’est
qu’il va pleuvoir et qu’il ¥ a des risques de tempéte ou de gréle. Si de la pluie tombe
alors qu'il y a du soleil, vous pourrez sans doute observer un arc-en-ciel.

Quand il ¥ a des nuages avec de la neige qui tombe, c’est qu’ll va neiger et qu’il peut
y avoir du brouillard, des risques de congélation, de la glace et que la température sera
trés basse. Lorsqu’il y a un éclair avec des nuages et de la pluie, il risque d’y avoir de la
foudre et du tonnerre,

Quelles conditions météo doivent étre réunies pour que se forme un arc-en-ciel?

1) De la neige et de 1a foudre. 2) De la glace et des nuages.

3) De la gréle et du vent. 4) Du soleil et de 1a pluie

Il fera chaud sur la région si la météo indique:

1) Du vent 2) Du soleil 3) De la pluie 4) De la neige
Des nuages seuls sur 1a carte météo signifient:

1) qu’il fera chaud 2) qu'il y aura de la glace

3) qu’il peut y avoir du vent 4) qu'’il y a des risques de tempéte
Les risques de foudre ou de tonnerre sont représentés par:

1) un soleil

2) un soleil avec des nuages

3) des nuages avec de la neige

4) des nuages avec de la pluie et un éclair

Il risque de faire froid quand la météo indique:

1) des nuages avec de la neige 2) des nuages avee de la pluie
3) des nuages 4) un soleil
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Teil A: Grammatik

Kinder, bald kommt Oma. Habt ihr ------=--- Zimmer aufgeriumt?

1) euer 2) eueres 3) eueren 4) euerer

---------- ich in Heidelberg angekommen war, rief ich meinen Vater an.

1) Falls 2) Wie lange 3) Damit 4y Nachdem

Sie iirgerte sich sehr ---------- , dass die Leute sie fiir abergliiubig und dumm hielten.

1) dafiir 2) davon 3) darauf 4) dariiber

--------=- hat verraten, dass ich morgen meine Frau iiberraschen will? — Ich glaube, es war
Berta.

1) Wo 2) Wer 3) Was 4) Wie

In welchem Kasus steht die Priip osition im Satz ,Anstelle der Sekretiirin éffnete ihr Chef
die Tiir<?

1) Dativ 2) Genitiv 3) Akkusativ 4) Nominativ

Georg war den ganzen Tag mit mir unterwegs. Er ---------- also unmdglich am Tatort
gewesen sein.

1) mag 2) darf 3) kann 4) muss

In welchem Tempus steht der Satz , Wir haben den Plan noch einmal fib erpriift“?

1) Futur 1 2) Priisens 3) Perfekt 4) Priiteritum
Welche Bedeutung hat das Modalverbh im Satz ,Lisa darfnicht das Fenster éffnen*?

1) Verbot 2) Absicht 3) Fihigkeit 4) Moglichkeit
Unser ———- Nachbar konnte wegen nnserer Bauarbeiten nachts kein Auge znmachen.

1) arme 2) armes 3) armer 4) armen

Herr Baumann begriifite die Giiste und ---------- (bitten) sie, Platz zu nehmen.

1) bat 2) bot 3) bietet 4) bittet

Teil B: Vokabeln

Ich weiB nicht, warum du Pjotr nicht ---------- kannst. Mir gegeniiber hat er sich immer
sehr freundlich verhalten.

1) leiden 2) drgern 3) tadeln 4) tduschen

Wie kann man nicht auftreten?

1) niedrig 2) bescheiden 3) vorsichtig 4) selbstsicher

Der Lehrer merkte, dass Tobias beim ---------- zwei Wirter ausgelassen hatte.

1) Sturz 2) Termin 3) Diktat 4) Angeln

Das ist keine gute Idee, deine Arbeit —————— . Wie willst du dann deine Familie erniihren?
1) zu machen 2) zu kiindigen 3) fortzusetzen 4) zu beginnen

Mit dem Fahrrad kann ich nichts anfangen. Der Fahrradlenker ist ---------- ;

1) neu 2) defekt 3) umsonst 4) steuerbar
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Teil C: Liickentest

Erginzen Sie den Text mit den richtigen Auswahlméglichkeiten!

Es (91) ---—---—-- einmal ein Kaufmann. Eines Tages packte er seine Waren fiir eine weite
Reise (92) ----mmmmm- ferne Linder zusammen. Als er sich von seinen Dienern
verabschiedete, (93) -—------- , er: .. Ich will euch allen aus dem Morgenland ein Geschenk
mitbringen. (94) ----—----- aber sollt mir mein Haus htiten.” Jeder durfte einen (95) ----—--
aussprechen.

1) gab 2) kam 3) ging 4) lebte

I)in 2) auf 3) an 4) nach

1) antwortete 2) glaubte 3) schrieb 4) sprach

1) Du 2) Er 3) Sie 4y Thr

1) Plan 2) Befehl 3) Namen 4) Wunsch

Teil D: Leseverstehen

Jedes Jahr am 8. Mirz veranstalten Frauen auf der ganzen Welt den Weltfrauentag. Seit
mehr als 100 Jahren fordern sie an diesem Tag Gleichberechtigung. Damit ist gemeint,
dass Frauen und Minner vor dem Gesetz und in der Gesellschaft gleichwertig behandelt
werden sollen. Das erste Mal gab es den Weltfrauentag im Jahr 1911.

Deutschland, Dinemark, Osterreich-Ungarn und die Schweiz waren von Anfang an
dabei. Damals durften Frauen in den meisten Lindern der Welt noch nicht wiihlen. Die
Hauptforderung am ersten Weltfrauentag war deshalb auch das Frauenwahlrecht. In
Deutschland wurde es 1918 beschlossen. Heutzutage geht es um andere Themen:
Beispielsweise machen Frauen darauf aufmerksam, dass sie weniger verdienen als
Minner und hdufiger Gewalt erleben.

Was durften die deutschen Frauen laut Text bis 1918 nicht?

1) Arbeiten 2) Wiihlen

3) Zur Schule gehen 4) Sich scheiden lassen

In welchem Monat finden die jéihrlichen Veranstaltungen zum Weltfrauentag statt?

1) Mai 2) Januar 3) Miirz 4) Oktober

Uber welche Forderung der Frauen findet sich im Text kein Hinweis? Forderung nach
1) mehr Lohn 2) Chancengleichheit

3) Scheidungsrecht 4) Verzicht auf Gewalt

Seit wann gibt es den Weltfrauentag? Seit ---------- ;

1) 1918 2) 19. Jahrhundert

3) tiber 100 Jahren 4) einem Jahrzehnt

Welches Land wird nicht im Text zu den Liindern gezihlt, die von Beginn an den
Weltfrauentag feierten?
1) Didnemark 2) Niederlande 3) Deutschland 4) Die Schweiz
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Partie A: Grammaire

Complétez les phrases suivantes en cochant la réponse correcte:

Ce guide indigque toutes les stations ---------- métro de la ville.

D) le 2) de 3) du 4y un

Les spaghettis sont des spécialités ---------- .

1) italien 2) italiens 3) italienne 4) italiennes
Mes parents ont acheté I'appartement ---------- ils révaient depuis longtemps.
I) ou 2) que 3) qui 4) dont
Nous allons au Portugal ---------- été pour les grandes vacances.

1) cet 2) ce 3) ces 4) cette
Quand j'étais enfant, je ---------- I'école.

1) déteste 2) détestais 3) détesterais 4) détesterai
Je suis heureux que vous ---------- cet outil.

1) aurez utilisé 2) avez utilisé 3) utilisiez 4) utilisez
Nous réserverons une chambre d'hétel quand nous ---------- la date du départ.
1) choisirons 2) choisissons

3) avons choisi 4) aurons choisi

S'il commencait a pleuvoir, nous ---------- a la maison.

1) rentrerions 2) serons rentrés 3) rentrerons 4) rentrons
Les chambres ---------- par un robot aux désinfectants.

1) ont été nettoyées 2) avaient nettoyé

3) nettoient 4) ont nettoyé

Nous habitons une vieille maison de campagne ---------- trois mois.

1) dans 2)ilya 3) depuis 4) pendant
Partie B: Vocabulaire:

Complétez les phrases suivantes en cochant la réponse correcte:

une chambre aménagée sous le toit est ---------- 5

1) un foyer 2) un pavillon

3) une mansarde 4) un immeuble

Les --m-nnnno- sont utiles pour combattre les maladies contagieuses chez les bébés.

1) soins 2) vaccins 3) guérisons 4) traitements

Les yeux ——— sont une caractéristique génétique chez les personnes d'origine asiatique.
1) bridés 2) pochés 3) exorbités 4) gonflés

Son employé est quelqu'un qui ne cherche pas a se mettre en valeur: c¢'est un homme
) cultivé 2) arrogant 3) modeste 4) actif

Le pharmacien n'arrive pas a lire I'écriture ---------- de son médecin.

1) illisible 2) nuisible

3) invisible 4) incompréhensible

Partie C: Texte a Compléter:

La bibliothéque couvrait les murs d'une vaste piece sans fenétre. (91) -------- contenait
un si grand nombre d'étageres qu'il fallait une échelle. Les romans étaient a cOté des
dictionnaires sans aucun classement. Les classiques étaient au milieu d'ouvrages d'art et

de sciences. (92) ---------- avoir la main heureuse, on devait pouvoir trouver ce qu'on
(R cherchait.
Sara considéra avec curiosité un bureau en bois (94) --—------- les pieds (95) ---------

en griffes de lion.
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1) Pour 2) Elle 3) En 41

1) Si 2) Pour 3) Méme si 4) A condition d'
1)y 2) en 3) le 4) lui

1) ou 2) que 3) dont 4) qui

1) se terminent 2) se termineront

3) se terminaient 4) se sont terminés

Partie D: Compréhension de Texte:
Lisez le texte suivant et répondez aux questions:

Les métiers
Je m'appelle Camille et quand j'étais enfant, j'avais des réves plein la téte. Je voulais €tre
professeur et enseigner les mathématiques. Puis, je voulais devenir docteur pour soigner
les malades. Pour moi, les médecins et les infirmieres sont des héros sans costume.

Mon ami Thomas révait d'étre cuisinier. C'est parce qu'il n'aimait pas les plats de la
cantine. Il pensait qu'un chef pouvait manger des pizzas et des frites tous les jours.
Puis, plus grand, je découvrais les métiers de policier et d'avocat dans un film. Je me
disais alors que je voulais aussi combattre pour la justice. Je voulais poursuivre les
criminels et défendre les gentils. Mais le monde ne fonctionne pas toujours ainsi.

Adolescent, je voulais devenir pompier. Mes parents m’encourageaient a devenir
sapeur-pompier volontaire pour voir si cette carriere était réellement pour moi. J'étais
donc lycéen et pompier a la fois. J'étais fier!

Mais ma plus grande passion, c'est l'art. Et aujourd'hui, je suis artiste. Je peins des
tableaux dans mon studio.

Mon ami Thomas, lui, est dentiste. Pourtant, quand on était petits, il détestait aller
chez le dentiste. Il pleurait a chaque fois.

Que voulait faire Camille dans son enfance?

1) Apprendre I'anglais 2) Enseigner le francais

3) Apprendre la biologie 4) Enseigner les mathématiques
Que faisait-il pendant son adolescence?

1) 1l était secouriste pendant les vacances

2) 1l était pompier occasionnellement

3) Il était chanteur

4) 11 était pianiste

Quels métiers de justicier Camille voulait-il exercer?

1) Policier et juge 2) Policier et avocat

3) Gendarme et juge 4) Gendarme et avocat
Qu'est-il devenu aujourd'hui?

1) Danseur 2) Photographe

3) Dessinateur 4) Artiste peintre

Qu'est-ce que Thomas voulait-il faire et que fait-il maintenant?

1) Cuisiner et dentiste 2) Serveur et chirurgien

3) Restaurateur et médecin 4) Agriculteur et psychologue
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A. BoiOepure NpaBWIbHBIA BAPUAHT OTBETA:

76- A.]'IERCRHI[P X0 T =e=mmemmnn HOBbBIe CTHXH H BBRICTYIIHTE HA KOHIEpTe.

1) 3aHMMAaThCA 2) yuHThCH 3) BBIYUHTH 4) H3y4HT
77- B gercTEe MBI 002 MEYTAIH CTATE -=---==-=- ’

1) Bpauam 2) Bpauamu 3) Bpaueit 4) ppaun
78- BeuepoM K HAM ---------- TOCTH.

1) npormnu 2) BBHIIUTH 3) nepenuiu 4) npHILIH
79- VIpoMm A BCTp €4 aIa MOAPYTY ----==-=== BOK3AlIe.

1) Ha 2)c 3y 4)B
80- CrymeHTHI MOTYTHIIH =-======-= OHIeTHI HecniIaTHO.

1) BXOJTHBIX 2) BXOJTHBIMH 3) BXO/IHBIE 4) BXOJTHBIM
81- OH Xo0YeT MOZHAKOMHTE CA ¢ MOHMH AP YIBAMH, =------=== KHEYT B Mockee.

1) KOTOPBIX 2) KOTOpBbIE 3) C KOTOpBIM 4) 0 KOTOPBIX
82- Hdmuezuaro, ---------v OH 00eIATI CHeIATE.

1) uto 2) uem 3) K uemy 4) o uem
83- IloueMy HA cToJIe TOBKO TPH --------=~ ;

1) Tapenka 2) Tapenok 3) Tapenkax 4) Tapenku
84- Ha ro0umeii oTel Np HLTACH TOBKO ==-======= ;

1) GNH3KHE POACTBEHHHKH 2) GIM3KHM POJICTBEHHHKAM

3) OIH3KHX pPOJCTBEHHHKOB 4) ¢ GIH3KHMH POJICTB CHHHKAMH
85- BeccHiaHe ecTh EI[HI-ICTBEHHLIﬁ HeJOCTATOK, ========== HEeBEO03IMOKHO HCIP ABHTE.

1) koTopoe 2) KOTOpBbIii 3) KoToporo 4) KOTOpPBIM
86- —-meeeeee- KTO-TO CTOHT H PAr OBAP HEAET.

1) ITocneqHuii 3Tax 2) B nocneqHHil 3Taxk

3) Ha nocnegHeM sTaxke 4) Ha nocieqHHI 5TaxK
87- HuHA NpHeTeT BMeCTe ------=--~ :

1) c cectpamu 2) K cecTpaM 3) cecTpsl 4) cecTpax
88- V¥V Hero 0oJIHT rosioBa, EedepoM OH MO eT ---------- :

1) y Bpaua 2) K Bpauy 3) c BpauoMm 4) ppaya
89-  —-e-eee--- cecTpe UBETHI H KOH €ThI, TOCTH MOLLTH I'YIATS.

1) [TopapuB1EE 2) lTogapuemias  3) Iojapue mmx 4) ITopapur
90- 3arpaHHDyY paipeniAeTcd BBIBOZHTE TOIBKO BOIOTY, =--------- B TAMOYKHE.

1) 3apErHCTPHPOBAHHOE 2) 3aperHCTPHPOBAHHAA

3) 3aperucTPHPOBAHH VIO 4) 3aperucTpHPOBaHHBIN

b. l[Ol'lU.]IHIflTe TEKCT, HCITOJB3V A MTOIX0JHI e TT0 CMBIC.TY CJIOBO.

AHZIEpPCEH - MHCcaTeNb, KOTOPOro (91) ---------- B3pOcCible H JETH (92) ------m--- MHpa.
AHJiepceH mucan ckazku. OH OJIHH H3 HEMHOTHX nucareneii (93) ---—------ JIHTEPATYPHI,
KOTOpbIii cymen (94) ---------- CBOH MBICJIH, CBOE€ OTHOMEHHE (95) ---------- KH3HH HE B

paccKazax, HE B pOMaHaXx, a B CKa3Ke.
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91-
92-
93-
94-
95-

96-

97-

98-

99-

100-

1) nroduT 2) mo0aT 3) 1106HTD 4) mobum
1) Bcero 2) BCA 3) BcO 4) Bech

1) mupoBas 2) MHpPOBOTO 3) MHpOBBIE 4) MHpoOROII
1) BbIpazuTE 2) BbIpa3uM 3) BBIpa3uTh 4) BbIpa3UT
1) Ha 2y E)}:! 4) K

B. IlpounraiiTe TEKCT U BLITIOJIHUTE 32JaHUA [10CJIe Hero:

- IIpueet, /{30! S Buepa BCIoMHHA O Te0E.

- Ouensb npuATHO! A mouemy BApyr?

- CMoTpen 1o TeneBH3opy nepenauy «Kiayo MyTelecTBEHHHKOBY, TaM PacCKa3bIBAIH 00
AHTJIHH, ToKa3bBaIH JIOHJOH.

- 1 xak TeGe nmoHpaBmica Moil pogHoii ropox?

- JloHnioH - mpexpacHslii ropoji. MHe oueHb 3aX0TENOCH MOEXaTh Ty[a H YBHJETh BCE
CBOHMH Ima3zaMH. MHe BooOIIEe HPpaBATCA MEPERaUH 0 APYTHX CTpaHax H ropojax.

- Tsl 3nHaems, [Ban, a 4, UecTHO roBopsd, Oonblie JMIOOMI0 caM €3IHTh MO pPasHbIM
CTpaHaMm, H B PoccHH yie ObL1 BO MHOTHX ropojjax.

- A B KaKHX ropoax Tbl 6b11?

- 5 6v11 Bo Brmagumupe 1 Hoeropoge. A emg # Obu1 B CubGHpH, Ha 03epe baikar.
Temeps 4 xouy mmoexatsd Ha JanpHuil BocTok.

- Tbl TaK MHOroO MYTEINECTBYEIL, YV TEOA, HABEPHOE, COBCEM HET BPEMEHH CMOTPEThH
TEJIEBH30P.

- Ja, 1 pegxo cMOTpIO TeNEBH30p. Y MeHd, AEACTBHTENRHO, MATIO CBOOOJHOrO BpEMEHH. B
OCHOBHOM 51 CMOTPI0O MY3BIKATLHBIE MPOrPaMMbl, @ MO BOCKPECEHBAM - CIIOPTHBHLIE
TIEpENIayH.

- A HorocTH? Tebe HX TOXKE HYKHO CMOTPETh, UTOOLI 3HATL O COOBITHAX B MHpE. ..

- Jla, koHeuHo. MHe oyeHb Moje3Ho cnyimars «HoBocTH». 3T0 NOMOTaeT MHE H3y4aTh
PYCCKHIT A3BIK.

HeaH 00/Ib 1€ BCero EOOHT CMOTP€Th ----==-=--

1) HHpOpMALIHOHHBIE IPOrPAMMBI 2) MY3BbIKaTbHLIE [IPOrPaMMEI

3) mepefayH o MyTEMECTB HAX 4) CIIOPTHBHBIE MEPEJAUH

Hean xo'uer moexars B .JIDI-[I[DH, MOTOMY YTO -========= .

1) Tam KUBET [I>H 2) 3TO MpeKPACHBIH ropoj

3) OH MIOOHTH MYTEMIECTBOBATD 4) OH X04eT YUHTh AHTTTHICKHH A3bIK
JI3H MOOHT =--===m-=-,

1) cMOTPETH TEIEBH30P 2) 3aHHMATbCA CIIOPTOM

3) Y4HT pyCCKHIi S3bIK 4) MyTelecTBOBATh

Hean coreryer JIPHY ===-nnenen g

1) YUHTB PYCCKHIT A3bIK 2) moexathb Ha 03epo baiikan

3) CMOTPETE TENEBH3HOHHLIE HOBOCTH  4) 0GOIBIIE NYTEIIECTBORATD

,1[31-[ CYHTAET, ITO TIeHOBOCTH IIOMOIal0T eMy ---------- .

1) 3HaKOMHTBCSA ¢ ropofgaMu Poccu 2) MOHHMATb MEPEAAYH O MYTEMIECTBHAX
3) Y3HAaBaThL O COOLITHAX B MHpE 4) H3y4aTh PyCcCKHH A3BIK
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77-

78-

79-

81-

82-

83-

84-

86-

87-

88-

89-

Capitolo A: Indicate la risposta corretta:

Maria studia ---------- primo anno di liceo.

1) al 2) nel 3) del 4) dal
Damasco e Dacea sono ---------- Asia.

I)a 2) in 3) all' 4) nella

Noi siamo stati ---------- fare la spesa.

I)a 2) di 3)in 4) per

======-=== 35 anni viviamo qui.

1) Fino 2) Con 3) Per 4) Da

Luogo di sosta di un treno attrezzato con vari servizi ¢ ----------,

1) centro 2) piazza 3) stazione 4) strada

Il documento ufficiale che ci consente di guidare I'automobile e ----------,

1) quadro 2) document 3) patente 4) quaderno
Clara non viene con noi. Non ---------- interessa viaggiare.

D) la 2) le 3) lo 4) gli

Quando vedo un serpente ---------- subito.

1) mi spavento 2) si spaventa 3) spavento 4) lo spavento
Mi rallegro che tu ---=--=--- bene.

1) sto 2) sta 3) sti 4) stia

La mamma dice a Claretta che ---------- a letto.

1) sta 2) sti 3) stia 4) stare

Noi mangiamo prima che tu =--==-=---,

1) studi 2) studa 3) studia 4) studiate
Dario e Alessandra non ---------- partire per la Pioggia.

1) hanno potuto 2) sono potuti 3) sono potuto 4) hanno potuti
Grazia, quando mi porti il mio libro? ---------- restituisco domain.

1) Tila 2) Tela 3 Tilo 4)Te lo
Alessandro e ---------- intelligente ---------- Adamao.

1) tanto-quanto 2) tanto- cosi 3) cosi-tanto 4) quanto-tanto
Se non avessi dovuto andare alla stazione per prendere mio padre ---------- con te.
1) verrei 2) verro® 3) sarei venuto 4) saresti venuto

Capitolo B: Completate il testo seguente con le parole proposte:

LLa mia casa € nel centro storico di Firenze, vicino (91) --------—-- Piazza Santa Croce. E’
un appartamento molto luminoso ed io vivo li con la mia fidanzata e i miei genitori. La
mia fidanzata ¢ brasiliana e la sua famiglia non vive (92) ---------- Italia. Lei studia

italiano e storia dell’arte ed ¢ molto brava. Abbiamo anche un gatto che si chiama Zorro
ed ¢ molto grasso. Il nostro gatto ¢ sempre in camera nostra, sdraiato sul letto
(93) -----mme- dormire per ore e ore. Accanto al nostro appartamento vivono i miei zii e
mio cugino che ha 2 anni meno di me. Siamo sempre stati molto (94) ---------- fin da
bambini visto che viviamo vicino e abbiamo un’eta simile. Lui perd ha un carattere piu
chiuso come mia zia, mentre io sono una persona molto (95) ---------- , mia madre dice
che assomiglio a quel confusionario di mio nonno!
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91-
92-
93-

95-

96-

97-

98-

100-

I)a 2) di 3) da 4) con

1)a 2) in 3) nell’ 4y all’

1) con 2) su 3) in 4)a

1) uniti 2) allegri 3) vivaci 4) simpatici
1) aperta 2) allegra 3) vivace 4) dura

Capitolo C: Leggete il testo e rispondete alle domande seguenti:

1-Quando era andata ad abitare nella casetta, la zia Alessandra era una giovane e
graziosa sposina, ma ben presto il sole e il vento avevano finito col trasformare anche lei.
Gli occhi avevano perduto ogni lucentezza, le labbra e le guance allora cosi rosee,
s’erano scolorite per assumere un colore grigio spento. Era diventata smunta e sparuta e
non sorrideva mai. Da quando la piccola Clara, rimasta orfana, le era stata affidata,
sussultava e si portava la mano al cuore ogni volta in cui la bambina usciva in uno dei
suoi scoppi d’allegria e anche ora, quando la sentiva ridere, si domandava stupita che
cosa potesse trovare di divertente la nipotina.

La zia Alessandra dove era andata a vivere?

1) In un palazzo 2) In un albergo

3) In una piccola casa 4) In una capanna

La sua faccia in generale ----------,

1) ha perduto la vivacita’ 2) e stata deformata

3) e stata battuta 4) e stata perduta

Lei e stata ---------- .

1) grassata 2) dimagrita 3) grossata 4) cambiata
Lei era molto disoccupata perche’ la Piccola Clara ---------- s

1) era partita 2) si era allontanata

3) si era ammalata 4) aveva perduto 1 genitori

La zia si domandava quando la piccolina ---------- :

1) parlava 2) gridava

3) scoppiava 4) trovava qualcosa divertente
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